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1. The quantitative definition of force can
-be obtained from which of the

Newton’s laws of motion ?
(A 1% law

(B) 2" law

(€) 39 law

(D) None of the laws

2. A body of mass 5 kg moving with

“velocity 2 m/s comes to rest withina' -
distance of 6 m. The work done during 3

the processis:
(A 104
(B) 15J .
(C) 20 erg
i (D) 30erg

3. Aventuri meter works on the principle”

of::. S aih
(A) Newton's law -
(B) Joule’é law |
(C) Pascal’slaw

| (D) Bernoulli's law

4. In a dynamo the transfo’rmat!on of -

energy is: k.
E ~(A) From mechanical to electrical b
(B) From electrical to mechanical

(C) From chemicalto electrical

(D) Fromelectricaltothermal =~ .

. OD-2D/M2

- (2)

5. Ohm's law is applicable to a ;

(A) Semiconductor

(B) Superconductor

(&) Metallic Conductor

(D) Junctiondiode

A body of mass 2 kg and electrical
charge 5C is moved through a

potential difference of 6 V. The energy

~ gained by the body is :
() 604

(B) 304

' (C) 300erg
(D) 600 erg .

7. Lenz's law of electromagnetic

inductic_iln is consistent with the
conservationof: |

'(A)‘ Mass

'("B)“Charge.j g
~ (C) Momentum |
(D) Energy
L The velocity of. sound in air at STPis

'nneadyi

(A) 100m/s
(B) 300m/s_
(C) 500 m/s |
(D), B00MYS.. i1-5 i v o i

Contd.” g


https://applink.adda247.com/d/XhqWf9lSap

9.

In Young's double slit experiment, if

the separation between the slits is

doubled (withinthe aneIength range),

" thenthe fringe width is :

10.

At

(A) Unchanged

(B) Halved

(C) Doubled

(D) None of thé above

If the temperature of a black body is

doubled, then its radia_nt emittance

becomes :
(A) Same as original value
(B) Twice of the original value

(C) Fourtimes the original value

(D) Sixteen times the originalvalue

If Mg atom having atomic no. 12 has
an isotope'of mass no. 26, then the
no. of p‘roton, neutron and electron

respectively are :

(A) 12,12, 14

- (B) 12, 14,12

12.
" (A) CO,CN7,NO",C5” s

OD-2D/12

(C) 14,12,12
(D) 12,12,12

Iso-electronic species are :

(B) CO™,CN,NO,C;
(G) €0*,cof,NOt, €57 .
(D) CO,CN,NO,C,

13. How Imany o and  bonds are present |

14,

in CaC, ?

(A) 20,nom

(B) 30, 2n

(C) 20,2n

(D)-3a,"1n .

Which of the following has maximum
no. of unpaired electrons ?

(A) Mg**

® T

! (C) V3+

(D) Fe?*

" 15,

" 16.

‘Which one of the following oxides is.

neutral ?
(A) CO
. (B) SnO,
e }(C)-ZnO "
(D) Sio,
N4H is represented as '|T>N—H :
_ 0 _

‘ vNitrog'en attached with double bonds

has oxidation number :
@0

(B) +3

C).e2

(D) -3

(Tum oyef )
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17.

2MNOZ + aH* + bH,0, — 2Mn®" +

cH,0+dO,

What are the values of a, b, ¢, and d

. respectively ?

18.

(A) 3,5,4,5

(B) 6.,5,8.5

(C) 3,1,4,1
(D) 1,5,4,5

Reduction of thiosulfate with iodine

gives:

(A) Sulfateion

~ (B) Sulfiteion

18.

(C) Tetrathibnate'i_on 3

(D) Sulfideion’

The mdlcator used in lodometrlc

i f’tltratlon is :

" (A) Phenolphthalein

20,

(B) Methylorange .

. (C) Starch

(D) Litmus

21. Which of the following is responsible

for modlfymg and packagmg of
proteins and llplds? ‘

(A) Mitochondria
B) Golgi Complex

(
(C) Endoplasmic Reticulum
(

D) Peroxisome

+22. Which of the following Vitaminsis not -

obtainied from plants ?

(A) Thiamine
(B) Pyridoxiri '

"(C) Cyanocobalaminé

(D Riboflavin .

For fhe'équa_fion Nog.+._,_4H+ te o :

'2H,0+ NO. The'no..olf electrons in its

- palanced formwouldbe : :

A) 5.

s ® s

OD-=2D/12

i (C) B
(D) 2

3. In Pteridophytes development of

sporpphyie from ga_ri'\etophytic tissue

~ without ihvolving gametic fusion is-
“ knownas:. o '
A Apospory

. (B) Parthenocarpy-’
; (C) Heterospory
(D) Apogamy

. The fungus common|y known as ;-

| Baker S Yeast is :

(A Saccharomyces octosporus

\(B)' Saccharomyces' cerévisial .

(C) Saccharomyces Iuduw;gu AL

: : v»(D) Alloftheabove
(),

Contd. "
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25.

26.

w97,

The plant that commonly known as

horse tail is :
(A) Equisetum '
(B) Marsilea
(C) Selaginella

(D) Pteris

Which of the following is not an

inexhaustible resource ?

(A) Sunlight

~(B) Wind

(C) Tidalenergy
(D) .Coal

Normally "the enddsperm in

angiospermis:

(A) Diploid
(B) Haploid

~(C) Triploid

.28,

(D) Hexaploid

Which of the‘followihg is an essential

. fattyacid ?
- (A) PaImiticAcid

(B) LinoleicAcid. .

- (C) Acetic Acid
(D) Citric Acid

29.

' The type of energy obféined from hot

springs is :

(A) Geothermal energy

; (B) Solarenérgy s 20 '

~ 0D-20/12

(C) Tidal energy
(D) Hydro energy

30. Which of the fdllowing is not a viral

31.

disease ?

(A) Measles

" (B) Hepatitis -

(C) Rubella

(D) Leprosy.

Zooplanktons are : '

~ (A) Producers

- (B) P’rim'ary Consumers

#(C) Secondar_yConsumers

39,

(D) Decomposers

Which of the following is a non —

symbiotic nitrogen fixing aerobic

' bacte_ria‘?

“(A) CIostﬁdium i

(B) Frankia

(C) Azotobacter .

(D) Rhizobium

33.

Minamata.disease was caused in -

Japandue to the poisoning of : -

. (A) Arsenic

(B) Nickel

- (C) Lead

(D) Mercury :

- (Tumover )
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- 34,

35.

How many teeth grow only once inthe "

life of a human being ?
(A) 8

(B) 12

(C) 20

(D) 32

Which is not a part of alimentary
canal ?

(A Jejunum

36.

(B) Ilium
(C) Gizzard
(D) Crop

Deficiency of which hormone causes
“diuresis ?

(A) Oxytocin
(B) Relaxin

: (C) Renin s ..- |

- 4

38.

OD - 2D/12

(D) Vasopressin

- 30,

(C) Scutes
(D) Vernix

During inspiration in mammajs the

diaphragm :
(A) .Expands
(B) Contracts

(C) Relaxes

(D) Shows no change .

40. -The statement “Eaiing on the same

41,

The clinical term for severe frequent -

cramping during menstruation s : -
(A Aﬁ'ienorrhea :
(B) Ménorrhagia

(C) Oligomenoﬁhea

(D) Dysmenorrhea

The coating of fine hairs onthe body .

of human foetusis called: .
(A) Lanugo
(B) Fur

table” is true for: *

(A);'Amensalism

(B) Mutualism

- (C) Parasitism

(D) Commensélism

A rational number % q# 0) can be

expressed as a terminating decimal,

" . ifthe prime factdrization of qis of the

~ form:

" (A) 2"3"(mand nare non-negative

77 i

_integers) _
(B). 2™5"(m and n are non-negative
integers) | '
(C) amsn (m.‘ari.d n afe non-negative

integers)

. (D) §™7"(m and nare nqn-negafive

integers)

Contd.


https://applink.adda247.com/d/XhqWf9lSap

42.

43,

The difference between the two
numbers is 1365. On dividing the

larger number by the smaller, we get

6 as quotientand 15 as the remainder.

Which one of the following is the

smaller number ?
(A) 360
(B). 295
(C) 270

(D) 240

What is the number of proper SUbsefs

ofthesetPuQ where P = {1 2, 5 7}' '

and Q=1{2, 4, 6}'?

& ‘(A) 31

44,

45.

(B) 63
(C) 64

- (D) 127

If the set P contalns 5 elements andv B,
the set Q contains 6 elements, then ‘
: ‘what is the r'l"umber of one-one and -ji, :
' onto functions from P to Q7 )

A) 720
(B) 120
(C) 30 -

_(D) 0

How many equivalence relatlons can

‘bedefnedonthesetS {1 9 3}7

(B) 5 ,
'OD -2D/12

46.

47.

(CY7 s .
(D)8 :
Su‘resh, Dinesh and Ramesh became

partners in a business by investing
money in the ratio 3 : 6 : 8. If their

" investments are increased by 5%,

" 15% and 20% respectively, theh what

will be the ratio of their profits in one
year ? ¥

(A) 7:46:64

(B) 19:46:64 °

(C) 21:46:64

(D) 35:46:64

ln'a_ bag, there are coins of 5- ps,
10psand 25 psintheratio 3:2: 1. If

all the coins in the bag amounts to

Rs. 60.00, then how many 5 ps coins
arethere?

(A) 100
(B) 200 .
(C) 300

. (D) 400

a8,

If log, y = 100 and log,, x = 10, then
whatis the value ofy? =

®) 2.

(B) 210

(C). 2150

; (D) —21000 _

(Tum over)
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1)
i
1
H
4
1

. 16
49. What is the value of (256)° " *.

10

(D)

51.

(©

(A) 256.25
(B) 64

(C).16

(D) 4

Iftan 0 = 3forsome()(0<ﬂ<90 )

then whatis the value ofsin 0 ?

{A)

(B)

ola oje aln oo

lflog3 ("= x%) - Iogs(x 1) 3, thenf
- whatlsthevalueofx? e x :

(A) 9

”_‘(B) :
(€G3

D)1

52,

, What is the value of the express|on
sin (1 ) + sin (11 ) + sin (21 ) +

LB5

. ;sm (31 ) + sin (41 ) + sin (45°) +

sin®(49°%) + sin?(59°) + sin (590) bt

. sin 2(79° + sin? (89°)?
2 AR 4 '
(B) 42

oD~ 2D/12

adC) 5

53.

dil 54,

(D) 57
If Sis the set of all distinct numpey of

the form -2— where p, q € {1, 2. 3

4,5, 6}, then What is the total Number

of elementsinS ?

- (A) 21
(8).23

(C). 32

(D) 36

The angle of elevation of a ladder .

, .',_‘Ie_aning against awallis 60° Ifthefoot

of the ladder is 4.6 m away from the

~ wall, then whatis the length / heighf of

5 V‘theA ladder ?
(A) 23m

B) 47m

) 78m

- .‘_(b) 92m

If one of the roots of the equation

3x% + px+3 =0 (p > 0) is the square -

of the other root then what is the value

: ofp’)

Ay
@1

©) 4

(8) 7

©F
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